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EXAMINATION, NOVEMBER 2001
‘Part T—Core Courses

‘Paper I—ORGANISATIONAL BEHAVIOUR
Time :Thrug Hours Masimum : 100 Marks

1. State whether the folowing statements ace troe or lse

b satistucion exn only b inferred bt ot sceh.
In windose approsch to sanflct resahution , both parties atand t lose,

Te grouping of etsities on the basts of-product o product families is callei
depactmentalieation by products.
Effctive commanication s  basic prerequists for the utainment of organisationsl posis.
Figw of information fram to0p to boteom loye) of mansgemsent is called upward
cofmuicatina.

(6 %1 = 5 marks)

T1. Define the lowioe-
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‘managerial Grid.
Delegation of Autharity.
Organisation.

Beliet.

Prejodicn.
(652210 marks)

T Distinguish between the fllowiag -
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Lenders and Mansgers.

‘Traditional views and current views on conflic.
Centealisatcn and Decentratisation of authority:
Power and Authority:

Responsibilty 1ad Accountability:

(6 %3 = 15 marks)

IV, Avswer uay chree of the ollowicg: Bach anawor shoukd not xcond tires pages —
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hat is orguoisational behaviouz. Explaia it objectives and Scope.
Tzt possible to change atetudes ? £ e, what afe the ways ? Explio.




